Multiple Choice Questions
Question. 1 The solution of which of the following equations is neither a fraction nor an
integer?
(a) -3x + 2=5x + 2 (b)4x-18=2 (c)4x + 7 = x + 2 (d)5x-8 = x +4
Solution. For option (c)
Ghan linaar aquaton is A rP=rsd

- dr -Er=2=2  |arsposing Sr o LHS and £ o BHS)

= —-Zx =0

- i 0 [eviding beaih sidos by 2]
! . -2 -2

e z=0

Henca, & = 0 an inbegern,

For option {b)

Given linaar squadion le Ar = Tl

= dx =2 474 [rareEp o iy =18 i RHS]

= 4x = 2

= %:? Iﬂl‘r‘ilj"ﬁﬁbﬂ-ﬂ'l!idﬂﬂ bﬁl"""]

. x=5

Hence, # = 5 i3 8 pasilhe imepar.

Far option (o)
Gevenlinear pquation s dr+ 7 =x+2
= dr—r=Z-7 [transposing &% LHS and 7 i RHS]
= #®=-5
=& L =
=res [ividing koth sides by 3|
_.a

Herce. x = = ks neithen & Iraction ner an image:.



For oplien [d)
Gaon inear agudliocn s Sx-8=x+4

- Br=g=d+H [renECosng =t LHE ana -8 b AHE]

ey dr =12

M E-% [ethvicling Bt sides by 4]
A

I ' =3

Hemca, & = i @ posive inkap
Eram the At | 12 caar ek, oplon () salislias e condlion,

Question. 2 The solution of the equation ax +b =0 is
A

G F=e bl z==0
Klr= _—h i E= E
]
Solution.
fe) Evanecuation = g+ b=10
= gx==h franspasing & 1o FHE]
= f'ai = _:' [dividing Doth sidos by 2|
o s
a
Bancr. the sakilizn ol he equaticnaz + b =0 isx =—§.
Question. 3 If 8x — 3 =25+ 17x,then x is
(a) a fraction (b) an integer
(c) a rational number (d) Cannot be solved
Solution. (c) Given, 8x-3 = 25+17x
= fr-17r=35+3  [rarsposingt7x o LHS and -3 1o RHE]
- -]
%= 'E‘E [dhiding bot scies by -]

Hence, x £ a rationss umibe

Question. 4 The shifting of a number from one side of an equation to other is called

(a) transposition (b) distributivity

(c) commutativity (d) associativity .

Solution. (a) The shifting of a number from one side of an equation to other side is called
transposition.

e.g. x +a = Ois the equation, x = -a

Here, number ‘a’ shifts from left hand side to right hand side.

Question. 5 If 5T14 =% , then the numerical value of 2x — 7 is
(@)13 (b) T

()0 (d)is

Solution. (b)



Given, B 42
a 5
= ?—E—;wﬂ [ﬂmm%mmsmwmmsl
L '|I
o, ?5';1;‘.31_4 [bakng LCM In LHS]
» 10 = @)
= 1 & | dviging bl sidas by 15]
G TR
II' F-—
i
K 25 2 -
A, &-'-"-..:‘:-c;lj—? [pultireg the wadun af £

_120-133 _ 13 ”
= = Ttabing LCM]

Henoa, the rumevical vale ol 2x - 7 is _:_g

Question. 6 The value of x, for which the expressions 3x — 4 and 2x + 1 become equal, is
(@)-3(b)0

(c)5x(d)1

Solution. (c) Given expressions 3x — 4 and 2x + 1 are equal.

Then, 3x-4 = 2x + 1

3x- 2x = 1 + 4 [transposing 2x to LHS and -4 to RHS]

X=95

Hence, the value of x is 5.

Question. 7 If a and b are positive integers, then the solution of the equation ax = b has to be
always

(a) positive (b) negative (c) one (d) zero

Solution. (a) If ax = b, then x = .

Since, a and b are positive integers. So,% is also positive integer, Hence, the solution of the
given equation has to be always positive.

Question. 8 Linear equation in one variable has

(a) only one variable with any power

(b) only one term with a variable

(c) only one variable with power 1

(d) only constant term

Solution. (c) Linear equation in one variable has only one variable with power 1.
e.g.3x+1=02y—-3=7andz+9=-2are the linear equations in one variable.

Question. 9 Which of the following is a linear expression?

(@) 22 +1 (b) y + ¥

(c)4(d)1+z

Solution. (d) We know that, the algebraic expression in one variable having the highest power
of the variable as 1, is known as the linear expression.

Here, 1 + z is the only linear expression, as the power of the variable zis 1.

Question.10 A linear equation in one variable has

(a) only one solution (b) two solutions

(c) more than two solutions (d) no solution

Solution. (a) A linear equation in one variable has only one solution.

=b
e.g. Solution of the linear equation ax + b = 0 is unique, i.e. x=a

Question. 11 The value of Sin :l:+ S= ; is



OHOE
()10 (d)0

Solution.(b) Given, it S= 3
o 5-35-% ltrarapwrulmﬁ-lﬁ]
= guli-b Making LTM In BHS]
5
1
! 5 =
Question.12 If —%y = —%then y is equal to
2 2
@~ )]
2 2
RHNOE
Solution.
& i
¢} Civan, -
e} ¥ -
= F= _j ® ? [ty cross=muitipicason]
- = l’ﬂ"'
=13

L

Hence, the Ui'ﬁﬂf}'ﬂ:[gj

Question. 13 The digit in the ten’s place of a two-digit number is 3 more than the digit in the
unit’s place. Let the digit at unit’s place be b. Then, the number is

(a) 11b+30 (b) 10b+ 30

(c)11b+3(d)10b+3

Solution. (a) Let digit at unit's place be b.

Then, digit at ten’s place = (3 + b)

Number =10 (3+b)+b -30+10b+b=11b+30

Question. 14 Arpita’s present age is thrice of Shilpa. If Shilpa’s age three years ago was x,
then Arpita’s present age is

(@)3(x—-3)(b)3x+3

(c)3x-9(d)3(x+3)

Solution. (d) Given, Shilpa’s age three years ago = x

Then, Shilpa’s present age = (x + 3)

Arpita’s present age = 3 x Shilpa’s present age = 3 (x + 3)

Question. 15 The sum of three consecutive multiples of 7 is 357. Find the smallest
multiple.(a) 112 (b) 126 (c) 119 (d) 116
Solution.
fa)  Lelibathrae consacucve multiplee of 7 Ba T, Te « 7], (F2 = 14) when x & & aatans
rumber,
Actarding 2 the question,
Tee(Tas T+ Tas 14)= 357

= A+ 2= 35T

= e+ 1= 357

= w - %@11 [eviding 2ath sides by 211
r+ 1=17

=¥ ¥x=17 -1 {transpoging 1 1o FHE]

N # =18

Herca, tha smalest ruitiphs of 7is 7« 18 Le, 112,

Fill in the Blanks
In questions 16 to 32, fill in the blanks to make each statement true.



Question. 16 In a linear equation, the——— power of the variable appearing in the equation is
one.

Solution. highest

e.g.x+3=0andx + 2 = 4 are the linear equations.

Question. 17 The solution of the equation 3x - 4 =1 — 2x is———- .

Solution.

1

Ghan, -4y

= v b 25 =1+ 4 [marsposing -2x 10 LHS and 410 RHS]

= Sl Bx =B

s b 5 Iefviding Balh: sides by 5!
5 B

7 x=1

Hencza, tha acluton of the givan egquation iz 1

Question. 18 The solution of the equation 2y = 5y—% is———.

Solution.
&
5
{Ghan, 25;:5].-_";
= 1!1—&“%3 [renemaeng S LHE]
18
- =3 = ——
T
=3y =18 i
— s o widhirag beath giges
-3 =3=5 I 4 G
B
| - g—
4 >
i

Question. 19 Any value of the variable, which makes both sides of an equation equal, is
known as a———-of the equation.

Solution. e.g. x + 2 =3 =>x = 3-2 = 1 [transposing 2 to RHY]

Hence, x = 1 satisfies the equation and it is a solution of the equation.

Question. 20 9X — .........ccc...... = — 21 has the solution (- 2).
Solution. 3
Let 9x-m=-21 has the solution (-2).

Skce, = -2 i5 tha salulicn of he equaticn

G {-PmiTi= 21

— “1H=m=~21 [ranaposing —21 1o LHE and —mio RHS]
-1+ Zl=m

-y m=3

Hance, Gr — 3 = 21 hae e sollion (-21

Question. 21 Three consecutive numbers whose sum is 12 are X and
Solution.



3,48
L4 {he frea conspoLiye numbsa ba o 4 land x+ 2

sccomding to he quealion,
s4x2elez+2=12
b : Ir + 3=172
== Alx+ w2
- 3[1: 1]=,1§, [drdchng bath sides oy
s Foplmd
ey ' r=8-1 (earspoaing 110 RHS]
= #=3

Herca, tha consaouive rumters 818 5 3+ Tand 342, L2 5. 4 8nd 5.

Question. 22 The share of A when Rs 25 are divided between A and B, so that A gets Rs 8
more than B, is——.
Solution.
T16.5
Lat, &5 shama be T x Than, &8 ahame =F (3 + &)
Aonording to (e quastian.
yrxeNalS
2r+ B=23
r=05-H8 [ranapasng 8w AHS)
Ap =17
2x 2 E
-
=% r= A5
Hesi, Aa ghae =85+ B=1 186

I 00 &

@ivicing borth sides by 2]

Question. 23 A term of an equation can be transposed to the other side by changing its—-.
Solution. sign

e.g.x+a=0is alinear equation. .
=>X=-3

Hence, the term of an equation can be transposed to the other side by changing its sign.

Question. 24 On subtracting 8 from x, the result is 2. The value of x is—-.
Solution.

10

Gren, ¥-—-8=2

= ¥=842 [rareposing —310 FHS)|
L x =10

Pance, the valus of x s 10,

Question. 25 % + 30 = 18 has the solution as——-.

Solution.
= &0
G, §+ =18
= ’;— 18=3 [fransposing 30 10 FHS!
i
== =12
" 5
Eus-_ﬁxﬁ [muEphdrg bath gigas by 5
=+ x==-E0

Hanca, the solution b5 — B0

Question. 26 When a number is divided by 8, the result is -3. The number is—-.
Solution.



24
Let she rumiter ba x
According ho tha gquealion,

Ll
= x=Bx([—3)
= F=-—24 [l croes-rultiplication]

Hance she requited rumber is -24

Question. 27 When 9 is subtracted from the product of p and 4, the result is 11. The value of

pis—.
Solution.
5
(Evan. 8 iz subiracied Iram the product of pand 4.
Then, 4p-8=11
s Lp=ita {ransposing =8 o ARS]
= an = 2
= *—f -%’ [dividing both sides by 4]
p=35
Heroa, the valueof pla 5
X 2 3
Question. 28 If § x-2=5-% x,then x=——-.
Solution.
T
Gyen, % E—2=5- 'E-t
u ] =a i
R T R . % 1
- =+ == =5+ P | ranspasing r—EInLI"EEn'ﬂ! —~2laRHS |
3 ] |
= E =7
5
- =¥

Herce, Iha vakig ot xis 7

Question. 29 After 18 years, Swarnim will be 4 times as old as he is now. His present age is

Solution.

& ysars

Lat Swamirn’s present age b ey,
Atiar 1B yr, Swamim's age = [x + Ty
Aacordieg Lo e cusslicn,

r+ 6= dx
= ¥ iy = =l [trerenoeing dr o LES and 18 1o RHE]
= =dx = - 1B
e R N [ddcing beth sides by -3
-3 3
& =8

Hern:aa;. SwaTin's Cresen; age MGy

Question. 30 Convert the statement ‘adding 15 to 4 times x is 39’ into an equation.

Solution. 4x+ 15=39

To convert the given statement into an equation, first x is multiplied by 4 and then 15 is added
to get the result 39. i.e. 4x + 15=39

Question. 31 The denominator of a rational number is greater than the numerator by 10. If
the numerator is increased by 1 and the denominator is decreased by 1, then expression for
new denominator is——.

Solution.



ks 8
Lat rumraratar be x. Than, dencmingtor = z + 10

= Baliznal numbsar = T
=+ 10
Accordng to tha cuastizn,
: - +1
Nerw reticral number = meator ] s+Y L x

Aromiragr=1 xe =1 x+0
Hance, e new Senominabar s &+ B

Question. 32 The sum of two consecutive multiples of 10 is 210. The smaller multiple is—-.
Solution.
100
Lef ihe fwm oonsaces mulisles of 10 e 10 and 108 + 10
According te the queshon,
1ir + thr + 102210
=3 e +10=210
= 20r =20 - 10 [¥enepasing 40 ta RHS]
= 2 = H0
2 2r 200

s [ahiding bed adaes by 20

] ¥ &0
Heros, the smailar mutp 10790, Le: 100,

True/False

In questions 33 to 48, state whether the statements are True or False.

Question. 33 3 years ago, the age of boy was y years. His age 2 years ago was (y — 2)
years.

Solution. False

Given, 3 yr ago, age of boy =y yr

Then, present age of boy = (y + 3)yr

2 yrago, age of boy =y +3-2 = (y + 1)yr

Question. 34 Shikha's present age is p years. Reemu’s present age is 4 times the present
age of Shikha. After 5 years, Reemu’s age will be 15p years.

Solution. False

Given, Shikha's present age = pyr

Then, Reemu’s present age = 4 x (Shikha's present age) = 4pyr After 5 yr, Reemu's age =
(4p+5)yr

Question. 35 In a 2-digit number, the unit’s place digit is x. If the sum of digits be 9, then the
number is (10x — 9).

Solution. False

Given, unit's digit = x

and sum of digits =9

Ten's digit=9 - x

Hence, the number = 10 (9 -x)+x = 90 -10x + x = 90 — 9x

Question. 36 Sum of the ages of Anju and her mother is 65 years. If Anju’s present age is y
years, then her mother’s age before 5 years is (60 - y) years.

Solution. True

Given, Anju’s present age =y yr

Then, Anju’s mother age = (65 - y)yr

Before 5 yr, Anju’'s mother age = 65 -y — 5= (60 - y)yr

Question. 37 The number of boys and girls in a class are in the ratio 5 : 4. If the number of
boys is 9 more than the number of girls, then number of boys is 9.



Solution. False

Let the number of boys be 5x and the number of girls be 4x.
According to the question, = 5x = 4x=9=>x=9

Hence, number of boys = 5x 9 = 45

Question. 38 A and B are together 90 years old. Five years ago, A was thrice as old as B was.
Hence, the ages of A and B five years back would be (x — 5) years and (85 — x) years,
respectively.

Solution. True

Let the age of A be x yr.

Then, age of S= (90 — x) yr

Five years ago, the age of A = (x- 5) yr

The age of B= 90-x-5 = (85-x)yr

Hence, the ages of A and 8 five years back would be (x — 5) yr and (85 - x) yr, respectively.

Question. 39 Two different equations can never have the same answer.
Solution. False
Two different equations may have the same answer.

1
e.g.2x+1=2and 2x — 5= - 4 are the two linear equations whose solution is 2

Question. 40 In the equation 3x — 3 = 9, transposing — 3 to RHS, we get 3x = 9.
Solution. False

Given,3x—3=9
=>3x = 9 + 3 [transposing -3 to RHY]
=>3x=12

Question. 41 In the equation 2x = 4 - x, transposing — x to LHS, we get x = 4.
Solution. False

Given, 2x = 4-x

=> 2x + X = 4 [transposing X to LHS]

=>3x=4
Question. 42
1
II‘--E =Tx =0 then - Tx =%+ E
3 &
Solution.
False
Given, % =B
= -Tr=f- % [1ran3p:|3h-;t -15 hFﬂ-lEl]
Question. 43
& 7 £ B
F—+l1l=—,then—=—.
3 15 3 15
Solution.
Fualae
G, L Pgi]
3 18
i %-.1%_1 [sranapasing 1 to AHS]
- xE _T-15
3 15
- = _—4
1 18



Question. 44 If 6x = 18, then 18x = 54.

Solution.

True

{Hken, Bir =18

= 3xBx=1Bx3 [ruttiching boih sides by 3)
- 18y = 54

T 11
Question. 45 If 11, then x=15.

Solution.
Falre &
Giunr, X =15
"
= E=11x15 [ty crosa-mutipticaton]

Question. 46 If x is an even number, then the next even number is 2(x +1).
Solution. False

Given, x is an even number. Then, the next even number is (x + 2).

Question. 47 If the sum of two consecutive numbers is 93 and one of them is x, then the
other number is 93 — x.

Solution. True

Given, one of the consecutive number = x

Then, the next consecutive number = x + 1

Acoanding 1o me guasiar,

r+x+ =83

- w83 [rarsposng 1 1o {HS]
= Pr =02
i ? = ‘?22. [eivicineg both eides by ]
! ¥ =48

Hemce. fhe ather consecilie® nembed = 484+ 1=47 = B3 46 -5 - »

Question. 48 Two numbers differ by 40. When each number is increased by 8, the bigger
becomes thrice the lesser number. If one number is x, then the other number is (40 — x).
Solution.

Falge

FEren, cne rumBer = x

wrch il pamibser = 40— x

Lt (db—-x) = %

Ther. accordng ba the cueslion,

40-x+8=3ix + B

=) df-x =33+
= e, D . ] F'm:pﬂ&i‘l@&rtﬂLHia'rd-ﬁlmHﬂgl
=5 =dr = =24
gy
= =2 w| —-
- )
B #=h

Hense, onemumoe ==s=46 °

and oeher numbar = 2 - x = 0= 6o 32
by, dBaraqce bebscen nuribene = 34 -B8526 = 40
winch i not sallsty the cardiian given In question

In Questions 49 to 78, solve the following.
Question. 49 =1
Solution.



G,

i

Sr
Question. 50 Zz—1 ~ <.

Solution.

G,

-
-

. 2xr-3 —
Question. 51 1245 — 3

Solution.

8 _
Question. 52z — z—T.

Solution.

Question. 53

Solution.

Gitvan,

EaALaa

=1
2z
3 -B=2% [y croms-riullisd icalion]
Ar - frw i [Lanspaging 2y 10 LHS and 3 1o RHE]
x=4

2

— =

dz=1
iy = 20 - ) [ty smss-mutiglication]
fFom gy -2
Sx-dy=-2 [ranepasing 4x ba LHE]
r==-2
1
2x-3 _1
dax+6 A
IPx-H=dy s+ B [Ery cross-muliplication)
Bxr-B=dx-E
Bz - 4x =B+ 5 [iranspasing 42 1o LHS and -Bia RHS]
gx =14
2x 14 ]
5 =E [dhiding both siday by 2]
¥=7
5
B =]
i
¥ ®2a]
Bix - 1= Ex [y cross-rmullitlication]
W - GB=5x
H -Sx =43 [transposing e 1o LHS and —Boe AHE)
dx=8
%lg [diding both sdes by 3]
xrm E
3
STIEEE 3% B I R | — 5'

L-3r

ﬁl:l-:|::l-l-3[‘I1-.::f|-B
1-2r
il —m)+ 3+ x)= 81 =Ex] [by cross-mulliplicaticn)
S-4r+ 3+ Gr= 8- 16z
! B-2x =8-18x
1e « 22 = § - B [nanepasing =1 e to UHS and B to AHE)
1oz =1
‘H.!': ¥
ETRNRT]
=i

[iding Dot aises by 14]

] 1

03
Question. 54 1%. =« — &

Solution.



Qrz+ b _7¢
iy 35x-3 &
= 0D 2+ B=2(AEx -0} |Ery o pes-miul plicatian)
== r+25=Txr—4
= x=-Tr=-8-25 [ransposng Trio LHS and 35 1o RHS]
= —fr==31
20 _":l-‘_ii‘ [elividieig b sidea by - 6]
i ¥ = dl
L3}
i |
Question. 55 2u=isaeiyl T E
Solution.
FoE-3y 1
'a'i'ul'E'l'I. % . LI} e
2y—-E3+d4¢ 3
- Sy~ dyj=2y-3-dy |lory rceses- e ilization]
= Glay -} =-3-2¢
= My -20=-3-2¢
= 20y + 2y =33 - 3 [fransposing —20 1o AHS and -2 10 LHE]
= Hy=17
a2y _17 .
GRS ahviding o gides by 27
= o 33 [ q bry 2]
i7
ik !I'._ E
. z _ x—1
Question. 56 5 — 7§
Solution.
-1
Gitwen, Xl
5 6
g €r=5[x -1 [by cross-multiplicaton]
= Er=5c-5
- B -Sg==5 [rerepasng S to LHS)
=
Question. 57 0.4(3x-1)=0.5x +1
Solution.
Ghean, G4k -=05x+1
= 1.0z =4 =[x =1
= 12g -05x=1- 04 [ranspoeing BEe o LHE and =04 o AR
=¥ Oz =14
7x 14
—_— = sividing both gides by 0.
= Tt L o by 0.7]
=g
Question. 58 8x-7-3x=6x-2x-3
Solution.
Givert, Hr=F-3g=6r-2x-3
S Br-Jr-8r+dy=-34+7 flranapesaing Bx, -2r o LHS ang -7 1o RHE]
=g
Question. 59 10x-5-7x=5x+15-8
Solution.
Ghan 10c-5-7x=Cx=-15-4
= Mx-Txr-Sx=5+16-8 [rerEgos g Sx o LHS and =5 1o FHE]
= —-dx=12
= =L [dividiriy both sides by =2]
-2 =2

ES #=-8



Question. 60 4t-3-(3t+1)=5t-4
Solution.
Givan & - -3 + =54 =4

= A-3-3r-1=6r-4
= r-4=5r-4
-+ t=Si=—d+d
= =daf =i
- e L0

4 -4
dmD

Question. 61 5(x-1)-2(x+8)=0
Solution.
Gven, Sx -1 -2+ B =10
= Bx-5-2r-18=171
3% -21=0
=2

—

2 3

| T |

=l 1 . y 1
Question. 62 1 ~ [x=5] =pl=+ 1+

Solution.
ﬂl‘q&ﬂ.r—l[:ﬁ—lml...lurj]f;
2 4 al s 12
= £—£+_II.£-|-11-..1_
£ 4 12 B & 12
— ﬂ’"’-;l-i-,ﬂ
4 2 8 12
= Ty lox, 3
4 12 & 12
- r r_ 32
4 B 12
=1 Br-dx _3-1
24 12
% 21:_5
12
= 2wty =2xd
= 2ix =48
Zdx 443
= T
", =g

[ranspasing 5 to LHI anc —¢ 1o FHS]

[icineg both sides oy —4

[Fansmosing —21ta AHS)
[dhicing both sides by 3]

i
[lrmp-nﬂr-.glﬂ b LHS m% to an_E

[ zroge-ruttipdication]

[chading boin sides by 24)

Question. 63 1 .t — 11+ slz—1h=fl=-12]

Solution.
Eh’ﬂ]l[,:+1|-+.!:#—ﬂvé-[#—ﬂ'l
2 3 12 |
x 1. =% 1 -8 &
i stat3TETE T
i3 xS 1.1 3
2 3 42 3 2. .8
Br-dr—-5z 2-5-5
= ™
i2 ]
ir -E
= g
12 &
- Exrx@=i-gxi2
E =] 1E
=¥ " xml
"Ex B

[I:rumcm}n-u

1 Sx
- 1o AH — izl
=a1-:- 5:1:'1-:!12!::- S]

B -

[brw orossemuk plhoatian]



Question. 64 o =%

Solution.
1 -2
Fwen, .
4 k|
= Hx = =&z -2] [try e rra i iaticon]
=y m+3=4x-6
=t I-dx==0=3 [rspasig 4x e LHS and 3 o RHS|
5 ayw=t] [dividing both 2ides by 1]
="
= o o
x =11
. 2r—1 _ A+l
Question. 65 =
T - PN
Solution. Given "% = 4
= SEx—-TN=5Mr+1) |by cross<mLitipicanion]
- Her—-3=15%+ 5
=} b =1y =34 5 [rarsposing 15 0 LHS and -3 o RHE)
=5 —Gx =0
- ﬂn- Eg [dhiding both sidas by -5
e Ew _.E

Question. 66 1-(x-2)-[(x-3)-(x-1)]=0
Solution.
Ghan, 1-fr-2)-fix-J-ix-TMj=0
T-x42-[2==x4+T=D
"84-x-[-2]=0
d-r+2=1
-24+5=0
e | [iranapezalng 51 FHE]
- =8

== [dividing bieth sides by -1]

| I I A |

i=B
Question. 67 3= — 2=
Solution.

Given ap-T-2 g 21
Sy Sk 4
e t6-x-)
E F

{ — =1

i

A ~x e )= J{G-2 4 1] [y corcesa-miuhisticalion]
dife + )= A= 2 417
r+d=-1r+ il
2%+ 32 =51-8 [ranapoaing -2x ta LHE and & 1o AHE]

e =43
:_3-5.1.'
5

I & 4 40

]

Iiividing belh siceas By 36]

BlERis

I=

Question. 68 Wb 1 = 4

Solution.
Gitven, 3E+5_1n4r—3
4 5
g BHab-4_4t-3
i 5

= S+ S-4 =408 -3 [y cross-muliiglication]



B3+ = dla =3
15 4 Bw 187 =12
18 =18l = =12 -8  [iranaposing 16110 L5 and 5 o RRE]
- ==17

-_fl - # [dhviding beth sides by 1]

=17

1

TR A

2y-1  d-b .
Question. 69 *— F—=w | 3
Solution.

By By~8 3
Ghean, 2ok P Lual- FHOPR
4 iR
Zy-3-23y -8 _ dy+3
F 4

1

= fr=3-8¢-10=dy+3

=% —y+T = dp+ 3 Ararsposing 4y o LAE and T ARE]

- —dy - dy=3-7

= =y =

- m S
5 -A

& Y=

[cFvicirg bath sidas by =£]

b i

Question. 70 0.25(4x-5)=0.75x +8

Solution.

Sy, 025{dg — 5l = O75: +-4

-5 -185m 0l = B

= £ o= (FAy = 106+ 8 [ranaposing 075 to LHS and 12510 FHE]
= @ BFx = B25

025 a8 .

A o cividing Doth sides by
= e T I g bry L2H]
5 =37

. g _ &
Question. 71 1%~ &
Solution.

o-3y_8
G, oy
- 5= 3= 80-9v [y cross-ruttiplication]
= 4f = 15y = B - T3y
i T2y-15y=8-45  [rarspesing -T2yt LHS and £5 (0 RHE)
- 5Ty == 57

Sty =27 fefivicing bk gides by 571
== e [imicing Iy
; ot o
. ¥ =
. Tr=f _ _1
Question. 72 1= = — T4
Solution.
G, el B
£x =3 4
— L3 v @)= - 3Es - 3) [ty cross-rmutiplication)
= 125 4+ Bm = Be s d
= 125+ Br =G-8 Irarsposirg -6 o LHS and & i RHS]
- 18y =1
o 1 [efivichng both ziclas By 18]
1| 18
AL 5 :,l
13

Question. 73 =



Solution.

(4 cross-mutiplication)

Mranapoging —2x % LHS and 3 to RHE]

[dividing both seles by 17]

[ransposng G to LHS and 5 o AHS)

[cirirrg bath sidas by 6]

[y cross srulipication]

[transpasing -dmio LHS and 2 15 RHE]

[Aniding beth sdes by B]

Glvan, =m+1_ 1
2z 3
= 35k + I=-2x
- 1B+ 3=--2x
= 1he & Pr==
= 1Tx=-3
=4 s _ A
v 17
% t-__'a'
17
-2 4 Bl y
Question.74 1t i —f+5;
Solution.
o W e Sk
3 2 Ei
i ZE -2+ 3E+ T _fae¥
L g
= Bl -d- B+ Q= 7
- T+ Hsfe T
- 18 -8t=7-8
e B=2
i E:E
E B
. f;l.
3
. I..I_'.'-I_l_-\.l—E
Question. 75 ¥ u 5
. . m — =l — =g
Solution. Given ™ e =1-m
& gmoim=T_ 8- [m-2
2 g
= AFM=m4+ j=? [EF=med)
= Fima fm - m)
= A+ 5=10-2m
-5 dm+2m=13-3
— Em=T
= b ¥
a m:i
5

Question. 76 4 (3p+2)-5(6p-1)=2(p—-8) -6 (7p — 4)

-10g+ 83g=8-13 [transposing—400te | HS and 13 0 FME ]

[dhvding o sides by 22]

Solution.
(akEn, {3g+ 2l SiBp—-T=E{p-B-EFp- 4
] 12p+ 8-30p+ Srlp= 16~ 430+ 24
= =1Hp+ 13=—4lg+ 8
E]
- Zp=—05
2 22
i
i 22

Question. 77 3(5x-2)+2(9x-11)=4(8x-7)-111

Solution.

Grer, 3(5x - 7]+ 23— 1= 4B - 71— 111
155 = 21+ 182 =28 = 3% = 2= 111

By = A2y = — 130 + 4%
2 x=-05

=
= e -d3= 22 - 139
—

Irarspaeing 32z 1o LHS and ~4312 AHS]



Question. 78 0.16 (5x-2)=0.4x +7
Solution.
Q16 = )= [dee = 7
GBr -2 =0dr + 7
Dfx - Odr =032 + 7  [iransposing G4z ta LHS and = 032 (o AHE]
Odz = 7,32

flar _ Fa2 e
O dividing bath sides by 0
04 04 e b

i =103

1 L1l =
L]

Question. 79 Radha takes some flowers in a basket and visits three temples one-by-one. At
each temple, she offers one half of the flowers from the basket. If she is left with 3 flowers
at the end, then find the number of flowers she had in the beginning.
Solution.

Lat tolal numbar of the fNowers ba x.

Then, flawars atfered I first tample = %

Flewars allered in second lemple = E

Flawars otterad in thind tarrpla =EB

M urn Bear af flowens b at Featd =3
Acoording 1o e quastion,
3 &
r—!li-i- L "ri |- 3

24 B
- E'm!—H-:u:*.-E:l.'-+.!t=:l_l._-1I
B
=5 dx - T = id
el =24

Heroa, Gl nuqrbar ol Iowers she ad in e baginning & 24,

Question. 80 Rs 13500 are to be distributed among Salma, Kiran and Jenifer in such a way
that Salma gets Rs 1000 more than Kiran and Jenifer gets Rs 500 more than Kiran. Find the
money received by Jenifer.
Solution.

Let the monay recated by Kran oe T

Tran, the rarey receved by Saima s T i + 10000

ard tha marey recrivad by Jeniar= £ (2 + 5000

Aocorcing ta tha queslion,
I =x+ 1000+ x+ 500 = 13600

dr - 1500 = 13520
5 5% = 13500150

e = 12000
12000
R ———
3
w = 4000

Hance, e mongy raéaed Dy Janiler = T 4000+ 500= T4500

T TR N

Question. 81 The volume of water in a tank is twice of that in the other. If we draw out 25
litres from the first and add it to the other, the volumes of the water in each tank will be the
same. Find the volumes of water in each tank.

Solution.

Liek wakimme of wabsd inone tankbe = L.

Thye, wedurne al te waler in anathar ank =22 L.

According io tha queston,

Woldnre ol B wealer in finst 1ank + 25 =Voluma of 1he watar in anoier [ens — 35

— | o L]
= 2y —#=20+25
2=5)

Hancs, wabdrre of wahar inare lank = &L
ang wolume of the water in anatharfank =2 = S0 =100L



Question. 82 Anushka and Aarushi are friends. They have equal amount of money in their
pockets. Anushka gave 1/3 of her money to Aarushi as her birthday gift. Then, Aarushi gave
a party at a restaurant and cleared the bill by paying half of the total money with her. If the
remaining money in Aarushi’s pocket is Rs 1600, then find the sum gifted by Anushka.
Solution.
Lot Arasnka and Aansshi have eoualamourd of money in heir pecked, which e T
didier ghving lu:ﬂ tre: money of Anushica 1o Aanienl,
drmcsart of Asrushi =2z + £

3l

5

Aoonding Lo Thes guastian

3

=18 1Y
= o= |[1= = TR
[ EI] )
=% Ir\:l:---E :-:l=-1BII
33
= WL iaOx2
3
= %-:ﬁrm

1

S0, oy gited by Aushka = -

nlm-:_lxsum-wm

Question. 83 Kaustubh had 60 flowers. He offered some flowers in temple and found that
the ratio of the number of remaining flowers to that of flowers in the beginning is 3 : 5. Find
the number of flowers offered by him in the temple.

Solution.

Lat rurmter of Tewsarns alfersd by Baashbh in the tampla ba =
Theen, reraring fhoaers = B0 = =
Aocordng to 1he cugslicn,
humber of ramaining fowers 3 ighvan]
taprbar of fowers i baginring 5
8i-x 3
0 5
+ 300 - Sx = 180
S = 300= 130
B =120
_ 130
i
x =3
Henze, the rumber of Sowers. offerad by Keusiubh in the lenple s 24,

i

Lol

a2

Question. 84 The sum of three consecutive even natural numbers is 48. Find the greatest of
these numbers.

Solution.
Lt the thras corsesdlive syan nalual rumbers ba x, (e + 2lanc (x + 4
Acording 1o ihe quastan,
T4 lx )+ 4)=a8 [given]
= 3+ E=43
-4 Redd-6
=5 H=dd = :::q—:i-
; =M

Ferca, e three consacutien ovon nabal numoers are f4, [14=2) ano (14 + 4),
1,514,746 pred 18

Thereltre, i graaiest numbas is 156

Question. 85 The sum of three consecutive odd natural numbers is 69. Find the prime



number out of these numbers.
Solution.

Let the threa consacutive 08d nalural numbers e x, (x + 2) ard [x + 4
Sezcording totha question,

relreFlelre 4=l lgkEn]
= e+ BaEG
= dr=6fB-8 = iv=§l
a=EIx) a2
3

Trus, the Bres cansesnntiva ood nahes numbars ara 21, 21+ 2hend 21 + 4, 18, 21, 23
and. 25, Out af thass, anly 23 ia tha prins aumbar,

Question. 86 The sum of three consecutive numbers is 156. Find the number which is a
multiple of 13 out of these numbers.
Solution.

Led thres consecutive numbars be = ix + Thandiz + 21

Arcamnding o the question,

I+ + T+ (x+2)=158 lghsen]
= A+ 3=156 = Arvw1ff-2=183
1
=B K 5 =0

Thus, we gat the rumioers 51, 59 + 1 8rd 51 + 2, L. 51, B2 and B3, Oue of thede, by 52
Iz 8 ruliole of 13,

Question. 87 Find a number whose fifth part increased by 30 is equal to its fourth part
decreased by 30.

Solution.
Lt tha numbar be x
Aosarding G e questian,
Tom=%_3
a 4
= ;_5; —%-—:m—an [ummmﬂg%mmsawa:-mms'l
= de—o
= -5 =—00%3] [y cross-rutipfical on]
£ &= 1200

Heriea, the raaured numbar 5 1200

Question. 88 Divide 54 into two parts, such that one part is 2/7 of the other.
Solution.

Lest 1h olhar pert be x TI‘-En.ﬂﬁt:l}EIT'«'thIETI

Accarding 1o e queston,
2%

. Ee—=h4
T
= ?IfE‘F_M
¥

Y Gr =T % 54 |bry erresm-rrakipl mation])
= IH?EH

g
- E=7®a
= 5 =42

Haice, the fral pan = *_"T:‘E. =12

BN e niher pam = 43

Question. 89 Sum of the digits of a two-digit number is 11. The given number is less than the
number obtained by interchanging the digits by 9. Find the number.
Solution.



Lat the uri's Gigl oa x. Than, She ban's digil="11-x
LHurbei=101-x)+ x=110-10r + x=110- 8z
Muimber chigined by merchenging tha dgis =10z + (11- 2j=892 + 1
Apcordng o tha guestion,
B+ 11 -1l -Bel= B
Bx +11-110+8x =19

1 =9 =11+ 11D

1ix = 108

# —

= P
rafd
Heroa, inifs dipt = fand rep's digh=11-8=5

Thereloee, the requingd numibes is 56 .

i & 0L B 1

Question. 90 Two equal sides of a triangle are each 4 m less than three times the third side.
Find the dimensions of the triangle, if its perimeter is 55 m.
Solution.

Lt thie shind side of rlangles ba x m.

Thean, twi ecual sides ol irangh = (L - 4

Gieen, primaier of tnanghe - B5m

= Permeter of a triangle = Sum of fhe gdes ot the idangle
il I+ dxr—4+dr-4=5KE

= Ti—d=858 = FTx=E5+0
it T =Bl s x-%
e =0

Hsan;e, she dimensons of the rlangle ara @ m, (3= B—4) mend (3= B- 4im La. §, 27 - 4,
ard 27 -4m e Fm, 23 mand Z5m.

Question. 91 After 12 years, Kanwar shall be 3 times as old as he was 4 years ago. Find his
present age.
Solution.
Lat Kamwar's pragant age te
Ader 12 41, Kaes's age = [x = 120y
and 4 yr apy, Kamwars age = ix — 41w
Aoconzirg {o the quastion,
2412 =3z-4 = z+12 =3z-12

= Ay er= 2472 = Jx=24
24

-5 Xom
2

=12

Hitroa, Kpenwar's presant ge 5 12w

Question. 92 Anima left one-half of her property to her daughter, one-third to her son and
donated the rest to an educational institute. If the donation was worth Rs 100000, how much
money did Anima have?

Solution.



Let Anima’s proparty be Tz
Property hﬁfurh-arm.rd'naf-té

Hﬂmahhgm-x—iua’;".ti

2 2
H‘Dﬂﬂrﬁ'ﬂﬁl‘ﬂrhﬂfsﬂnl%ﬂ resmeining M‘%H%h!%

X
& &1 i
Zirca, thea reraining propety denated to.ar egucaticnal neidls
Bul domalicn oty = T 100000
‘E = 00000 = & = 300000

ﬂarnahhgmpmr-[:—[zirfﬁ]]- x_[.‘h—;- ‘]- Br—dax _2r_,
Henze, Arima had © 300000

Question. 93 If 1/2 is subtracted from a number and the difference is multiplied by 4, the
result is 5. What is the number?

Solution.
Lat e numicer ba =
Accorcing ho tha guestizn,
4
-1-|:.--E1]J-5 wm dr-2=5
= dxe=f+ld = 4x=T7
i
¥ o
P

Harca, the reguinas nemba: is %.

Question. 94 The sum of four consecutive integers is 266. What are the integers?

Solution.
Let the four consecutive inapas be r, s+ 1 x4+ 2800 x + 3
Accanding o the queation,
s+E4+TtE+2 080 3=000 [akven|
dr + B=28E
dr =25E-6
Ax = 240

P R L

g § frshenst

&
=85
Henga, tha four consecuie inbagers ara B5.85+1 85+ 2 and 85+ 3 e, 65, &8 &7
and E8

23 kg more than box B

48% kg. How

Question. 95 Hamid has three boxes of different fruits. Box A weighs
and Box C weighs lD%kg more than box B. The total weight of the three boxes is
many kilograms does box A weigh?

Solution.

Lt e vemighd of Bo & Be x K]
Ascording b he quaslion,

mig'n-nfEntA-'n'l':ghrmB:xE+gﬁ3 \gven]
o Wikt n-ibmﬂn{:—g]kg
arel waigh of B« Weight of box B+ T kg [ahven]
- msgma*su«c:;-gu“%m:”[;‘.“‘: “']ug-[”?;jm

£, total wesght of hres mm:-m%&g-_%m [ighvan!



=+ Ttaf waighi of 1hrae boses = Waight of Box A + Weighl of bax B + Waght af box &

ES —mrt X E
z

=
o, 195 E_rwﬂ-.—h'.'l
4 4
= B T O P
4 4
- e 195-21 -~ 3":1?‘
F]
— t’-ﬂ = i|,'.|-EB
I d .
1
i e 1d-
EHEI

Hence, bomA wa:ghamilg.

Question. 96 The perimeter of a rectangle is 240 cm. If its length is increased by 10% and its
breadth is decreased by 20%, then we get the same perimeter. Find the length and breadth
of the rectangle.
Solution.

Givan, peimaler of mcangle = 240cm

=t £ x [Langin +Eraadth) = 240 am

= Largih + Braadih = 120 8m

Let the length of motangla ba 2 cm,
Than, $he bresdth of reciangks = (20— ©)om

2 Wew lergith of roctanghs = =+ 0% of x = .:+1—¢=-l::r= m:ﬁ‘l’-
Lt ] L]

art I'I'?'HDI'E-HU'"' ot restangle = (120 - x) - 20% el {120 — x)em
—1|I1 —x)- —x{ld=
=|[120-x i1 =%
) 100 i

= (120~ x3|f.1 - 5’-]: H 120 - xjom

“0a)
N iz gheen tral, perimpbar of rers rectengle 1g 243 cm.
Acoording bo the ousstien
2 u (Nt leragth + Mew Dresc) = 240
110 = 80
p— 2o | i e 20— =240
[11:1: Tk ﬂ]
i Ticke + HE00 - BOx _ 240
100 2
= :3n:+9m-n-?2ﬂx-m
= Fr = BEDD = 12000 y :
=3 S = 12000 - 3500
= A = 28N
2800
= & w0
a0

Henoa, langlh al reckangle < 8 om
and breadth of reclangle = 120 - B0= 40cm

Question. 97 The age of A is five years more than that of B. 5 years ago, the ratio of their
ages was 3 :2. Find their present ages.
Solution.

Lat the presant age of Bbe 1y

Thes, e prasen age ol A =[x+ 5]y

Fhes yoars 80, agaaf A= o+ 5—0= 3w

ard age ol B=(x - 54T

Azcordng bo the guastion,

x 3
e
=% 2
= 2x = Jx—- 3]
= fx=0x-15
- Axr -2z =15
et e g=13

Harsza, the present nge of A is 18 yr and the pesent age ol A e 15+ a1 ie 20y



Question. 98 If numerator is 2 less than denominator of a rational number and when 1 is
subtracted from numerator and denominator both, the rational number in its simplest form
is 1/2. What is the rational number?

Solution.

Supoosa Sanominatar of aratonal ramher be o,
Mumssrabar = Deneminatar - 2= x -2
Accoedrg ba lha gueslion,
=211 _1
. -1 2
ok -2-tmx—1
A R
2y == x=1
2x—x=8-1
Xeh5

Henca, danominetor = 5 end numerainr = 53 =3

ThiLg, Mg rational sumbar s :

i

1401

Question. 99 In a two-digit number, digit in unit’s place is twice the digit in ten’s place. If 27
is added to it, digits are reversed. Find the number.
Solution.

Let ter's digit of wo-digd numbar be x

Than, unit's digit = 2x

SoMumber =10+ 2r=10x + Ex=12x

Om reversing the digils,

Mewnumoar = 1 wiEx]+ £=20r » x=21x

According ha tha gueation,

18x+ 27 =5z
b 2lr-12x =27
- Sy = &7
= xmd

Hiemce, the nxguied rdTher 51223 ie 38

Question. 100 A man was engaged as typist for the month of February in 2009. He was paid
Rs 500 per day, but Rs 100 per day were deducted for the days he remained absent. He
received Rs 9100 as salary for the month. For how many days did he work?
Solution.
Let she |-|-|-m n-nkg.u:l g8 & tepisl for x did in 118 month of Febeuary 2008
Than abeen in tha manth of February 2008 = @8- x) days
T ko theat, numier of dans in month of Fabnuary 2008 is 20]

P cry payment = ¥ 500 [mberemi]
Total pald amaunt for warkineg deys = T 500x
And per ey daduction, whan ha remained absant = 7100 [givan]

Total amourt desucled tor being abeant = 100 = 23 - x|
Gk, salary recaned by man for the manth of Febnuary is #A100
Arcorcding e the queston,
5K x - 100 28-x)= 9100
B0 - 2800+ 100 x = 9100
B00 & = 0100 + 2800
B0 = 1 20000
4 1000

I

I A I

=31
Theralors, te man worked Tor 20 dieys.

Question. 101 A steamer goes downstream and covers the distance between two ports in 3
hours. It covers distance in 5 hours, when it goes upstream. If the stream flows at 3 km/h,
then find what is the speed of the steamer upstream?



Solution.
Let spaed of tha steamer 0 sl water oaz km'h

Gpaad of the strearm = 3 kmT Figivan]
Maw, speed of (ke teamer coenertam = [x + Jjmh
gno speed of (b sieemer upstmeam = (x = & kmf
-hn;mrdhg i fhe guesTon,

Dismaroe coverad n 30 b seamar dowrslear

= Nistarca coered 19 & b Dy shaamar upsiraen

fxe Nabr=-5 [-tfetance = spaad = trne]
= e+ @=Ee-"E

=3 Ar — A e =15=14

- -2r=-24

- .r=—2‘-1:-c|:_?1]-12h:n'u1'|

Hencs, the spoed of f1e saame upsiream (8012 - 3 (e 9km,

Question. 102 A lady went to a bank with Rs 100000. She asked the cashier to give her Rs
500 and Rs 1000 currency notes in return. She got 175 currency notes in all. Find the
number of each kind of currency notes.

Solution.
Ghean, tolal rarmber of curenoy notes = 175
Let the ratmd namizer of noges of § 50060e
Then, tolal rumber of nobes of T 1000 =115 = &
*+Tengl armaun which lady had = 100000 [givan]
Aaconding o e quastien,
S00x + (175 - 2] 1000 = 100003
B0 = 175000 - 1000w = 100000
— S00r = TOKKY = 175000
= 500r = — TROOO
¥= —.'I"EEIIIII:{i-
B0

-

b 21y

a x =180
Therefam, Intal numbsr of roles of © 500 = 150
and iota rumber af noles o 1000 1785 - 150 =05

Question. 103 There are 40 passengers in a bus, some with Rs 3 tickets and remaining with
Rs 10 tickets. The total collection from these passengers is Rs 295. Find how many
passengers have tickets worth Rs 3?

Solution.
Giean, bodal nurnber of passengers = 40
LEt the rurmiber of pacsangans havigg fokeis worth T 3 be x,
Then, tha rumber of passerigors having tickets worth ©100= {40 - x)
Tota! colection fram passengears =T 285 [hwean
Aooonding o the guastion,
Br + 1008 = x] = 255
3%+ 400 - 10x = 208
—Tr =285 - 400
~Tx=—106
u—mﬁ:['_’]
T

r

F S S A

o r= 16
Hence, the nuember of pagsengere Mening ficknts worlh T3 & 15

Question. 104 Denominator of a number is 4 less than its numerator. If 6 is added to the
numerator, it becomes thrice the denominator. Find the fraction.

Solution.



&t tha nienerabar al b number o8 &,
Then, cancrmingnss of T rUmMcer = x = 4

' Eraciion = i
h x -4
Arcording b the guestion, if 6 is added 1o rurera, It becomes Sica the denamnatoe
i g+ b= Miz—4)
=4 B -12=xz+48
= Ar-zm G+ 18
= =18

1B
— #.'r-z--
" Jleg-El

I

Henca, fraction = i Lo

Question. 105 An employee works in a company on a contract of 30 days on the condition
that he will receive Rs 120 for each day he works and he will be fined Rs 10 for each day he
is absent. If he receives Rs 2300 in all, for how many days did he remain absent?
Solution.
Given, lotal number of days in conlract = 30
Ry raceiwed per day for wandng =T 120
hianey deductad par day for baing abesnl =1 10
ang AU feca fhed trurrml?ﬁ-n salary = T 2300
Let Iha emiployes remained sbaen lod x daya, Tnen, employes worked 1or (30 - 2] daye.
Agsending to 1he guastian,
120430 - xh - 102 = 2300

= 3500 - 1l = 1{x = 2]
- = 130r = — 3600 + £300
- —-130r = = 1300
=1
] e
= 2 m”[muj
a =10

Thesrafana, employesa memaired abeant wor 10 deys

Question. 106 Kusum buys some chocolates at the rate of Rs 10 per chocolate. She also
buys an equal number of candies at the rate of Rs 5 per candy. She makes a 20% profit on
chocolates and 8% profit on candies. At the end of the day, all chocolates arid’ candies are
sold out and her profit is Rs 240. Find the number of chocolates purchased.

Solution.

Let Kusum purchesed x chocolaies,

Thean, il cost of chooglabes = T 10r
Sinitarly, she purchasad = candies

|, bodal ot of candiog = ¥ Bx
Agcording mtha Juastian
Profitan chacolates = 20% of 10 = % x e =02%

and profit on candics = 8% of S = 0w B - 0 ds
fm

o lsl profi = 2x + Qdy = § 24
Bun it givan thal tolal prale = § 540,
fpan, acoarding to 1he questian,
Bdrem24) = r=in =im
4

Henize sha purchesed 100 chocoisias,

Question. 107 A steamer goes downstream and covers the distance between two ports in 5
hours, while it covers the same distance upstream in 6 hours. If the speed of the stream is 1
km/h, then find the speed of the steamer in still water.

Solution.



Girvmn, spaed oF Bream = 1kmfh
L&t £0eead al the sleamer instil water ba o kv
Than, epeed of steerer CoenEeoum = (¢ « 1 kmh
ard spead of 21eamer upsteam = [ = i
Asoordng bo e cuegslion
Jislarcs covernd upsiraam = Dislance covaned downsrasm
= +|Spesa gl ataan‘minum-u?n:m Timre {aken upsieam
= [Speed of slearmes downsirgam) = Tims 1aken downsiraam
[ distancs = apead = lire)

= r-Tint=iz+ TuE
= By — G fir e 5
= Gr-Sx=d8+45
=1

Trarefore, e spsad of steams in stl wate: iz 11kmh

Question. 108 Distance between two places A and B is 210 km. Two cars start
simultaneously from A and B in opposite directions and distance between them after 3
hours is 54 km. If speed of one car is less than that of other by 8 km/h, then find the speed
of each.

Solution.
Lt tha apesadd of car atels freen Aba 2 kmih,
Then, soeed of car aterts Fem 8 = (e 4+ 8 km/h A ;.
Ghvan, distarce betason tha cors after 35 = 4 by — 2l km

According iz tha queston,

lcdal dighance baebwnnn 4 and B - ol distancs covernd by boh cars in 2 h = 54

=5 210 =[x+ Jx + Bl =54 [ ietance = spied = fime]
b - B - By ~Pd =54

-G =210+ 84« 14
- 8¢ = =Fl0+ @

-gr=- 132
=1
== 132w —
: [.5]
E

Hienon, the speed of 2ar s1ane ram A =22 kb
ardl the spasd of car stars fmom 8 < 22 + 8= 30 kmh"

I L 4d

L

Question. 109 A carpenter charged Rs 2500 for making a bed. The cost of materials used is
Rs 1100 and the labour charge is Rs 200 per hour. For how many hours did the carpenter
work?
Solution.

Lot 1hes csaargeriar workige For b,

Given, ksbour cnange = ¥ 200 par hour

Then, ktal ataur chaega = T 200

Ao, ameun] changed by campensar for raking & Ded

= Cost ol malertaE + Total lsbor oungs
A PEK = 1100 + 200 = POilx = E800—1100
14000
= 3]s = 140 = x = ﬁ:-'u"

Haron, the cerpenter worked for 7 h

Question. 110 For what value of x is the perimeter of shape 77 cm?

-+ 1)

W+ e 1)
ek E

Solution.



Ghean, perrnetar of shape = 7 o

> Surr ol 8l sdes of the shape = 77

=la+U+lzr N+ix+2+ Pr- N+ @22 T
Teelalf = Tz=Tr-T

=

e Te=T] = r=;;D=1D

Hance, he w&ie of x 8 13,

Question. 111 For what value of x is the perimeter of shape 186 cm?
o [ —

Solution.
Ghven, lergth of the given figure = 5z + 8
8 braackn of ke givar fgure = 2x - 66
+» Parmealer of shase = 188 em lgver]
2« [Langth + Braossn) = 165
Exiioe + B+ 2r+ A8 1865
Ex[Tr+T2)=184
143 4 144 =188
145 = 186~ 144

T4x = £3
42

- ===
4

A |

=B T
Hence fevioe of 2 53 o0m

Question. 112 On dividing Rs 200 between A and B, such that twice of A’s share is less than
3 times B'’s share by 200, what is B’s share?
Solution.

Let B8's sharg be ¥ a, Then, A's sham = £ 500 - 1]

Atcording ta tha queston,

2 %A% shara) = A= (B's shara) - 200

= 2 (20 -zl =3z - 200

=F i =2% = Gz - 200

-z —2% —Ax = =30 - 40

= —Ex = - B0

= :l:'l-'—EIIh:r—I]
L5

. x w1730

Hanca, B's share i ¥ 120,

Question. 113 Madhulika thought of a number, doubled it and added 20 to it. On dividing the
resulting number by 25, she gets 4. What is the number?

Solution.
Lt the numibes ba
Asnordng b the gueelion,

T R
i3
x
i
%

Hemce, e required romser i 40



